Mounting Instructions

Item No.: 941.32.004/006

HAFELE

FLAT TRACK SLIDING SYSTEM WITH
STRAIGHT HANGER - MODEL #BD100

G%

‘xy
\@./

S N

G

y

‘ 2500 mm (98 7/16”) ‘ B i _
= = = = = e—zm 8
| E © E © g © g © g © ‘ 26 210 I
< < < < < — °
: or or | gFr | er | gr | : 7% %
P, ¥ 23 I~ I~ I~ | .
T z z ! T T .
‘ [ ) | - 1 | ‘ w‘a”\
| ‘ o 8 | DT
Pt et et | | == 1 T Ry
‘ - - =
: o] | lo]
|
I
|, |determined ) /'/ (x6) @ m«m
in the feld | (' M8x30 (x 2)
ED | N \_
g | @ﬁ
- |
- (@)
E "
™ |
< |
: | S %@ )
| ) Y M10x55(x4)
10 mm \ M8x60 (x 6) bolts for 35mm door
! 0
@) $T4.2x25 (x2)
,,,,, — (D (O s M10x65(xd)
M8x30 (x 6) bolts for 45mm door
¢6 x2 M8x120(x6)
D (x1)
1 A For masonry installation For drywall installation with support structure
E— Ex Ex Ex E- ES E— ES ES EXS EX EZ
Qr Qr 9Or Qr Or Qr Qr 9Or Qr 9Or
(¥n ¥ ¥ Y Y ¥ ¥r  ¥n  ¥r ¥
%7+ +————— v T T %7+ — +— +— T,
- T TR T 9 - 9T - —— - —¢ 7 T TR T T - 9T~ —— —
Lo ¥ Lo a
:» determined :0 determined =
in the field ol in the field ©
s £
= 30mm—=-— T 80
L; (13/18”) g8 mm ‘E’ (31/8)
£ £
@ Q
+
= T
\// //
I
B
For masonry |nstallat|on 6 . 7 B For drywall installation with
@ s ¢ %/ S support structure
‘(G/r\




40mm I
(19/16”)

90 mm
(39/16”)

o]

Thickness
45 mm (1 3/4”)

Thickness
35 mm (1 3/8”)

Groove
7 mm
(9/32”)

g

20 mm (25/32”)

- Dlll_

=
o ‘O [¢]
|
[ o
|
|
|
|
|
\ =N
2
\ &N
o]

HAFELE

3901 Cheyenne Drive ® P.O. Box 4000 e Archdale, NC 27263
1-800-423-3531 e www.hafele.com/us





